MODEL QUESTION

SET -1
Entrepreneurship (G=tEar)
lass XIth
Time — 1 hr é_%g_srs Eré—)2 020

Full Marks : 40

General Instructions/ JAtATr forder :

1. Write your Name, Roll Code, Roll No. Registration No., Date of Exam.,
Sitting, Faculty and Name of the Subject on the OMR Answer Sheet in the space
Provided. Put Your Full Signature on the OMR Answer Sheet in the space
Provided.
37T 37Ul oTH, AT BIs, 3Tgchdics, UsiHel JASAT, Ulelm &b fafer,
arefl, fstmor gam fadw=r @1 st OMR 3492 Usieb A & 918 ofolg U=
foT=si | 3T 31UaT QRT 83181 OMR 392 U3lch H & 918 Slolg UT 3 |
2. There are 40 Multiple Choice Questions in all.

BT 40 ITg-—TadbedT ueeT &

fea

3. All questions are Compulsory. Each question carries 1 mark.

Tt ueer siferart €1 U ued 1 3k BT B

4-Four Options are given for each question. Choose the most suitable option and
indicate it by blackening the appropriate circle [ ®] in the OMR Answer Sheet given
separately. Use only Blue/Black Ball-Point Pen. The use of Pencil is not allowed.
U&® Ued H IR ey &I o= &1 sad A JOd Uy fabed
gelchz A 3TcTol A I gU OMR 3T USh U AST INcl Pl BT B2
(@]3TT BT Jfad HIfSTA | itedT AT BTl ATA-WTSe BAH BT & T=IIeT
B3| URAeT w1 u=er afsta 2

5. Before leaving the examination hall hand over the OMR Answer sheet to the
invigilator. You are allowed to take the question paper with you.

TIeT odel Bisal A Ul OMR 39T Ussks digis I ciler EIfor |
UT-Usl 37T 37Ual ATT o ol Ahd & |

Adhere to the instructions above very carefully otherwise your OMR Answer
Sheet will be invalid and will not be evaluated.

HUT afvfa fordell T edTeiydds Ulclel hIfSIu 3TsIT  31Tuchl
3T UK STATT oM 3T IABT Siid ST&i &bt SIefl |




3=t &aT 21 An Entrepreneur is

(A) ATE=AT Entrepreneur (B) udleres  Manager
(C)eNRaaa A araaT Risk taker (D)X Jaft All of these

HIZATT 3ol B Ader A IATHAT 2 |

In relation to Indian industries entrepreneurship is -

(A) 3TTaexras  Necessary

(B) 3taitaeaehs  Unnecessary

(C) AT Burden

D) JAHT T eIl I Jdiel Wastage of time and money

IafHAAT aidca uerel &t @ci— Entrepreneurship fails to lead -

(A) ATSETA W Partnership firm
(B) = Yoot famrster New Corporate division
(C)erelter 31gfarel 3 New subsidiary venture

(D)3uerd & F bpis ofai None of these

IafdAar @t 3maeaesar &1 Entrepreneurship is needed -

(A) flIrepra sreferazemr A In developed economy

(B) 31faepira 3referazer & In undeveloped economy
(C) RrepraAefier 3referazemr A In developing economy

(D) JTAAT kR Ht referazenr A Inall types of economy

Iafdrar I & (Entrepreneurship is a game of) -

(A)&TsT BT Money B)TAAT b1 Time
(C)arger @1 Skill (D)SaTH A BT b1 sEl None of these

HRA A 3aTHAT b brRibA & —

In India entrepreneurial development programme is -

(A) 3T Necessary (B) 3taitaexras Unnecessary
(C)AHAT &I Faicr Wastage of time (D) &TeT @b5I daial Wastage of money

HIRART IATHAT b IR bl FRATUST bl o=t eff—

Entrepreneurial development Institute of India was established by-

(A) FABRISE AIBIZ GIRT By Maharastra Government

(B) IoRId AZHIZ &1 By Gujarat Government
(C)HALT Yaol IABIR gIRT By Madhya Pradesh Government
(D)?-I‘%FIEI'@ HAZPBIZ gI=T By Tamilnadu Government

ARG A IaAfHAAT BT aIfasr B— The future of entrepreneurship in India is -

(A) 3TeeTah1z A In dark (B) 3ssdaT Bright

(C)pfeerg & In difficulty (D)STH A bis <T&l None of these




Serfdar freera brRisedA @Yet amadr & ? Who requires EDP ?

(A) fo1fé1a F9gg  Qualified group (B) ddkeiifes &IferT  Technical person
(C)gd Aferes Ex- Servicemen (D) 3u=erad Aal All of the above

10.

IafHar e bripdA UrEn: 3menfeid b o & -
EDP is generally organised by -

(A) 6 JaTe 3rafer 6 Weeks duration (B) 4 JAwdTe  3Tafer 4 weeks duration
(C) 8 Aara 3rater 8 weeks duration (D) 1 0 Jware 3rater 10 weeks duration

11.

3eHT Hecayul AoTeTel AT & | Entrepreneur plays an important role-

(A) TroTafares e A In political development
(B) ATATISTG faasrer & In Social development
(C) 3mffes T F  In economic development
(D)setdd A Bt & =18t None of these

12.

forder & A pla A anfEies e o5t faduar 2-

Which of the following is a characteristic of economic development ?

(A) fer?az ufes=r Continuous process

(B) 3aateer Ateredi @1 3fa fa<r@er Proper utilisation of Factors of production
(C)Gitael 392 & JeR Improvement is standard of Living

(D) 3u=raa AT All of the above

13.

g 3eor A fafeiierer e - Investment limit in small industry is -

(A)30 3 A Rs. 3 Crore (B)350 4 BAs Rs. 4 Crore
(C)»0 5 BAs Rs. 5 Crore (D)0 6 PBAS Rs. 6 Crore

14.

TaATRIG SNfRgA @1 37ef & — The meaning of business risk is -

(A) BTt BT JaTaer Chances of Loss (B) b1t @2 Govt. Taxes
(C) =gertdad ==amarz Minimum Trade (D) =111 @1 dgelT Rise in expenses

15.

ol & A pIa—AT TIAWar aa—TeTdHTor Bt & 2

which of the following is the attribute of an innovator ?

(A) 31ferep 191787 More qualified
(B) 3= ATATISIG a2 High social status
(C) 31feras  TaTTaemeil More influential (D) 3uted Haft All of the above

16.

................ B IgAR, I ydgd A IS &Gl &1 IeAT
Sa-ydades Ud Uddes Qe & |

According to .......... “Entrepreneur is an innovator and promoter as well.” -

(A)STIw To gadieT Joseph A. Schumpeter
(B) BT tBRg‘-r Forest Frantz (C) WleX WWwo g2 Peter F. Drucker
(D)3uerd H AF bhIs <tai None of the above




17.

31f3O0rT B 3fcdoid foldet daal H A 8T 3MTdr (hbrel—AT)—

Motivation does not consist of the following elements -

(A) STraer &1&=T Mission (B) 32921 Motive
(C)=@aerT Behaviour (D)e1&a Goal

18.

@eteT forderst & foTuw 31f3TU=ur - For efficient direction motivation is -

(A) 3T Necessary (B) 3teitaea<hs Uncertainty
(C) ereT @bt aaiel Wastage of money (D) JHIT b1 daial Wastage of time

19.

3MALTHBAT — UTITHBAT [TARERT & Ulduleds & —
Need Hilrarchy Theory was propounded by -

(A) 3TITEA ARGl Abraham Maslow (B)T®H0 8&cf0 <ciz  F.W. Taylor
(C) Tews dATefer Alfred Marshall (D) 8e73I W=itel  Henry Fayol

20.

SIH A Pla—AT Mt 3fHozom 2 ?

Which of the following is a Non-financial Motivation

(A)daer Salary (B) alet=1 Bonus
(C) aiterer Commission (D) SfraB3t @t FI&T Job Security

21.

SNfRgdA b1 ufsummer 2 — Riskistheresultof .............

(A) farfsTaar  Certainties (B) a1ferf$araar Uncertainties
(C) 3uara Aall Both the above (D)3Uded & F bis o&i None of above

22.

BHATRAT BT ASHTST A d2e Bl ATTATRIB SHRIH a—

‘Dishonesty of employee’s is the ............. Type of cause of business risk.

(A) ATTE=T Human (B) UTzfcras  Natural
(C) 3m1fafes  Economic (D) AZPBT Aifa=ai Govt. Policies

23.

Agca/3adl wT wrf 8- Function of leadership/entrepreneur is -

(A) SI3aar otelr Risk taking  (B) fetofer ateim Decision Making
(C) =maATRias fer=iistel Business planning (D)= 78t All of these

24.

Famz ufee=mr 8- Communication is a process -

(A)Tx AT Single way  (B) fgaT0f=r Two way
(C) Br—#Tefi=r Three way (D)3udad # A dig &t None of these

25.

FAR AT BT AT &rar a1fa@ | Way of communication should be -

(A)dts Right (B)fetfsaa Definite  (C) 31fetfdaa Indefinite (D) Jferr Straight

26.

fereister &rar & (Planning is for) -

(A) sydemIcaT & e (Past) (B) a7l = f&Tw Future
(C)adHTer & feIE Present (D)=t & f&w All of them




27.

“Tereliolel HTIST bl Uhsa b oTU IITIT 9T UGl &1 J& held a-—

“A Plan is a trap to capture the future.” This statement is of -

(A) =IdsT Newman (B) &ct Hurley
(C)Tasr Allen (D)X Terry

28.

foreet & A Hpra A uAtaofiir arem S8t 2-

Which of the following is not an environmental barrier ?

(A) ATHATTSTE  (Social) (B) 31farg=or (Motivation)
(C) 3mfafes  Economic (D) Irsiafaes  Political

209.

ICICI zertita fas=m orerm—  ICICI was set up as :-

(A)Ts fersit &= (a private Sector) (B) T oftes &= (Public Sector)
(C)TH AT & aloint Sector (D)S<ld A bis oaf None of these

30.

SafAdT eThparsit & U 3maesres &— Entrepreneurial competences requires-

(A)=mer  (Knowledge) (B) 3221 (Motive)
(C) fergorar  Skill (D) 3=k HAar All of the above

31.

................ Bt off 3Ieor &1 Shaa—aa” 2-
.................. 1s the ‘life blood’ of any industry :-

(A) far=r  (Finance) (B) Udeerel (Management)
(C) &1d Labour (D) =T Machine

32.

IeTHAT bt br Tohdal a2 & dial o JAbdl & ?

Into how many stages entrepreneurial development may be divided ?

(A)ui=a (Five) (B)ATa (Seven) (C)ga Ten (D)ar Two

33.

AMONTAB 3TN UT IATGNT bl doffded fhaIT ST JAhdr &, ord—

On Geographical basis, market may be classified as -

(A) Zaret=r @t (Local Market) (B) uTedi=r @t (Provincial Market)
(C)ISEIT T 3= ooz National and International Market
(D) 3u=reka A All of the above

34.

frUuTer Udel &' 3TeNI0N bl GledH qTel a—
The concept of marketing management was originated in -

(A) goctvs  (England) (B) 3TATIBT (America)
(C) w1 France (D) STTaTer  Japan

3 5.

qGIIR BT UldRUgicAs fdoauor foreet & A fha-Tea I fwar o
HAhAT B |
By which of the following the study of competitive analysis of market can be done ?

(A)JFcT #H BT T oporaar H dgfeg (Decrease in price and increase in quality)
(B) 3aUTeel UfehaaT @I amard  (Cost of the process of Production)

(C) ferza= eoner Continuous Research

(D) 3u=raa AT All of the above




36.

Ucve sffaferia b ad I aror g3 ? Patent Act came into force in the year.

(A)1970 (B)1975 C)1972 (D)1973

37.

TUh ATaHRIP Rice bl Uollehol febaell 31afer b1 arom ?

The registration of a trademark shall be for a period of -

(A) 3 ad (3 years) (B) 6 ad (6 years)
(C) 7 ad 7 years (D) 9 ad 9 years

38.

Uk Ucve 37f3fepdl UAT Il &l a@mfat orae ao g3 w2 faw &fh-

A patent agent must be a person who has completed -

(A) 14 adt (14 years) (B) 18 ad (18 years)
(C)21 ad¥ 21 years (D) 26 ad 26 years

309.

Udh 31l oS aidl & — A Good brand is :-

(A) 31fgd=r (Unique) (B) AT (Simple)
(C) 3MATT A ATe I3l =AoT Easy to remember (D) ¥a3ft  All of these

40.

foreet & A Praa—AT UhfSior bl bt & —
Which of the following is a function of Packaging ?

(A) F=&1m (Protection) (B) Jiararm (Convenience)
(C)uf3=r=r Identification (D)J Far All of these
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